


India – Size and Location

Location

India lies entirely in the Northern Hemisphere and is 

longitudinally located in the Eastern Hemisphere.

Latitude – between 8°4′ N & 37°6′ N, from south to north.

Longitude – between 68°7′ E & 97°25′ E, from west to east.

भारत - आकार और स्थान

भारत पूरी तरह से उत्तरी गोलार्ध में स्स्थत ह ैऔर अनुदरै्ध्ध रूप से पूर्वी 

गोलार्ध में स्स्थत ह।ै

अक्ाांश - 8°4′ उत्तर और 37°6′ उत्तर के बीच, दस्क्ण से उत्तर तक।दशेाांतर 

- 68°7′ पूर्वध और 97°25′ पूर्वध के बीच, पस्िम से पूर्वध तक।





The Tropic of Cancer (23°30′ N) divides India into almost 

two equal parts. It passes through eight states – Gujarat, 

Rajasthan, Madhya Pradesh, Chhattisgarh, Jharkhand, 

West Bengal, Tripura and Mizoram.

To the south-east of the mainland lies the Andaman and 

Nicobar Islands in the Bay of Bengal.

To the south-west of the mainland lies the Lakshadweep 

Islands in the Arabian sea.The southernmost part of India 

called “Indira Point” (Great Nicobar Island of the Andaman 

and Nicobar Islands) got submerged under seawater in 

2004 during the Tsunami.



ककध  रेखा (23°30′ उत्तर) भारत को लगभग दो बराबर भागों में स्र्वभास्ित 

करती ह।ै ्ह आठ राज््ों - गुिरात, रािस्थान, मर्ध् प्रदशे, छत्तीसगढ़, 

झारखांड, पस्िम बांगाल, स्िपुरा और स्मिोरम से होकर गुिरती ह।ै

मुख्् भूस्म के दस्क्ण-पूर्वध में बांगाल की खाडी में अांडमान और स्नकोबार 

द्वीप समूह स्स्थत ह।ैमुख्् भूस्म के दस्क्ण-पस्िम में अरब सागर में लक्द्वीप 

द्वीप समूह स्स्थत ह।ैभारत का सबसे दस्क्णी भाग स्िसे "इांददरा पॉइांट" 

(अांडमान और स्नकोबार द्वीप समूह का ग्रेट स्नकोबार द्वीप) कहा िाता ह,ै 

2004 में सुनामी के दौरान समुद्री िल में डूब ग्ा था।



Size

Area – 3.28 million square km.

Its area is about 2.4 % of the total geographical area of the 

world.

It is the 7th largest country in the world. (7 countries in the 

decreasing order of their size – Russia, Canada, USA, 

China, Brazil, Australia, India).

Land boundary – approx. 15,200 km.

Total length of the coastal line, including Lakshadweep and 

Andaman & Nicobar islands – 7517 km.



आकार-

क्ेिफल – 3.28 स्मस्ल्न र्वगध दकमी.इसका क्ेिफल स्र्वश्व के कुल

भौगोस्लक क्ेिफल का लगभग 2.4% ह।ै्ह दसु्न्ा का 7र्वााँ

सबसे बडा दशे ह।ै (आकार के घटते क्रम में 7 दशे - रूस, कनाडा, 

अमेररका, चीन, ब्रािील, ऑस्रेस्ल्ा, भारत)।भूस्म सीमा -

लगभग. 15,200 दक.मी.लक्द्वीप और अांडमान और स्नकोबार

द्वीप समूह सस्हत तटी् रेखा की कुल लांबाई - 7517 दकमी।



India and the World

India is located in the south-central part of the continent of Asia.

India shares its land boundaries with seven countries – Pakistan and 

Afghanistan in the north-west, China, Nepal and Bhutan in the north 

and Myanmar and Bangladesh in the east. Among these, the longest 

border is shared by Bangladesh (4096.7 km) and the shortest by 

Afghanistan (106 km). Across the sea, the southern neighbours are 

Sri Lanka and the Maldives. Sri Lanka is separated from India by a 

narrow channel of sea formed by the Palk Strait and the Gulf of 

Mannar, and Maldives islands are situated to the south of the 

Lakshadweep islands.

India - Its neighbours





भारत और स्र्वश्व

भारत एस्श्ा महाद्वीप के दस्क्ण-मर्ध् भाग में स्स्थत ह।ैभारत की भूस्म सीमाएाँ सात

दशेों के साथ साझा होती हैं - उत्तर-पस्िम में पादकस्तान और अफगास्नस्तान, उत्तर में

चीन, नेपाल और भूटान और पूर्वध में म्ाांमार और बाांग्लादशे। इनमें सबसे लांबी सीमा

बाांग्लादशे (4096.7 दकमी) और सबसे छोटी अफगास्नस्तान (106 दकमी) से लगती ह।ै

समुद्र के पार, दस्क्णी पडोसी श्रीलांका और मालदीर्व हैं। श्रीलांका पाक िलडमरूमर्ध् और

मन्नार की खाडी द्वारा स्नर्मधत समुद्र के एक सांकीणध चैनल द्वारा भारत से अलग दक्ा ग्ा

ह,ै और मालदीर्व द्वीप लक्द्वीप द्वीपों के दस्क्ण में स्स्थत हैं।



Q1. India is completely located 

in the ______ hemisphere.

भारत पूणधतः ______गोलार्ध में स्स्थत 

ह।ै

(A)Southern

(B) Northern

(C) External

(D) none of these
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2. __________ divides the country into 

two almost equal parts.

__________ दशे को लगभग दो बराबर भागों में 

स्र्वभास्ित करता ह।ै

(A) Tropic of Capricorn (23° 30'S)

(B) Tropic of Cancer (23° 30'N)

(c) Equator (0°)

(d) none of these
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3. The land area of India is 

_____ million square km.

भारत का भूस्म क्ेिफल _____

स्मस्ल्न र्वगध दकमी ह।ै

(A) 32.8

(B) 3.28

(c) 328

(d) 0.328
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4. The total area of India is 

about ____ percent of the total 

geographical area of the world. 

भारत का कुल क्ेिफल स्र्वश्व के कुल 

भौगोस्लक क्ेिफल का लगभग ____ 

प्रस्तशत ह।ै
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5. India is the _______ largest 

country in the world.

भारत दसु्न्ा का _______ सबसे बडा 

दशे ह।ै

(A) sixth

(b) further

(c) ninth

(d) seventh
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6. The largest country in the 

world?

स्र्वश्व का सबसे बडा दशे ?

(A) Pakistan

(b) Japan

(c) America

(d) Russia
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7. India's land border is about 

_______ km?

भारत की भूस्म सीमा लगभग 

_______ दकमी ह?ै

(A) 16,520

(B) 15,200

(c) 7,516.6

(d) 14,200
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8. India is surrounded by young 

folded _______ mountains in the 

north East.

भारत उत्तर-पूर्वध में ्ुर्वा मुडे हुए 

_______ पहाडों से स्घरा हुआ ह।ै

(A) Western Ghats

(B) Eastern Ghats

(c) Himalaya

(d) none of these
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9. The water body located in the 

western part of India is known as 

_________.

भारत के पस्िमी भाग में स्स्थत िल स्नका् 

को _________ के नाम से िाना िाता ह।ै

(A) Himalaya

(B) Bay of Bengal

(c) Arabian Sea

(d) Indian Ocean
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10. The Standard Meridian of 

India (82°30'E) passing through 

_____ is taken as the standard 

time for the entire country.

_____ से गुिरने र्वाली भारत की मानक 

मर्ध्ाह्न रेखा (82°30'E) को पूरे दशे के 

स्लए मानक सम् के रूप में स्ल्ा िाता 

ह।ै

(A) Delhi

(B) Odisha

(c) Mirzapur

(D. ALL of the above
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11. Which country has the longest 

coastline in the Indian Ocean?

हहांद महासागर में दकस दशे की तटरेखा 

सबसे लांबी ह?ै

(A) Bangladesh

(B) Myanmar

(c) India

(d) Pakistan
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12. From Gujarat to Arunachal 

Pradesh, there is a time interval 

of ________.

गुिरात से अरुणाचल प्रदशे तक 

________ का सम् अांतराल होता ह।ै

(a) two hours

(b) 120 minutes

(c) 60 minutes

(d) A and B
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